
 Using two steps to solve an equation with whole numbers: 
Worksheet 5.1 

      

 

  Name ……………………………… Date ………………………………  Score ………………………………… 

Solve each equation. 

1. 5n + 10 = 40 

2. 2y + 8 = 0 

3. 4g −2 = 26 

4. −40 = 12x + 20 

5. 43 = 1 + 7a 

6. 2q + 15 = 7q 

7. −9 = −11 + (b/3) 

8. 39 = 5w + 14 

9. (y/4) – 3 = −12 

10. 2p + 3 = 19 



Solutions: Worksheet 5.1 

 

 

 

 

1. n = 6 

2. y = −4 

3. g = 7 

4. x = −5 

5. a = 6 

6. q = 3 

7. b = 6 

8. w = 5 

9. y = −36 

10. p = 8 

 

 


